ELECTRICAL MATHEMATICS
TEST 2 — TRIAL TEST/ASSIGNMENT

Notes:
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This test covers substitutions, basic algebra, and evaluation of subject/transposition of
formulae.

The actual test will be closed book, calculator permitted.

It is ESSENTIAL to show working/steps, where asked, otherwise no marks can be given.

. Evaluate the following expressions:

a. a = bc where b=3.08 and ¢ =39.5

0=3.08 3.5 = 404 .C6.

b X =Y where Y =0.00043 and Z =77.9

z
(200004 o - Mi
c. Rpr = R;+Ry+R; whereR,; =820, R, =220 and R3 = 470
= 820+ 2204430 = {S4{O
—_
d m = @+vy's  whereu=40.4,v=37.0ands=123x10° .
W= (‘-&O.q+3'4‘0>2,< 193407 < 3345 L.223< 10
- 5,99 L322 1. 3E
e R= (60-ST) wheresf‘s.7x10"andT52.s7xlo* B J>§ i
0= (6.0-5 1107 2 B o) = (6.0 (6.359:07) -
- (60-1.6258)>- 434 = 82

—_—
. Transpose each of the following formulae, making the variable in brackets the subject of the
equation.
a V=R ®) y
=2 7R D R-y
O —
b 1=0Q ®
' Bt Q Q
- o = o EL Rt T
H-Qp 5 T=QoE-§ > 3

¢ Rr=R+R+Ry (Ry)
RT—R\“RS: Ra = .= QT"Q\‘Q’E

d. PR 6

p=r ). B
T2 L R_2n Q-E.: 2 - \P 5T |=
L1 5 3T E-Ro e
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{ 22 ’&3__

el-1+1  ®) o Rk  Peke
l\{p R|i Rz ( L P—%‘QE
[ 25 ez
U U o R - Bz
[ Qf 3 L Po-Rp
3. Express the following in their simplest form:
S i 2y Pt - Y+ S
= LT e S

b. (a-b)-(a+b)

oo Zay

c. (a-b)(a+b) 2 2
2 - -b
Qg(?(g,g)(,b = a
d. (3x - 4y) (3x - 4y) + 24xy

B R

e 24xyz+ 12y
2RO axe
_—
4. Solve the following equations for the unknown:
_ O —-%+2=0
RN O+ =%
52 X3 _ 0x2 >
=5 2 %=
o= (X2 =0
b 3,215 5.5
" m w6 w6 2
), \s =22 = - &
W [ \ i
o 4 3)5\\))—333:*)‘&44
T Sy+2 Ty-3 \ YA
(Syr2) 3 = 4x(Fy-3) ?3\*2%‘% .
2504+ A4 = A8y - & 5:—;=»53
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LR +R,)
Rz

5. Given I =

a. Evaluate / when /; = 240mA, R, = 680 and R>=2.2kQ

- 240« 03 (680+2200) _ 240\ % 2.23x _

2200 2200
g -3
- L52  -3uaOTA - BlwA

b. Transpose to find R,
TRy= Iy (Ry+22)
T R= TRyt TR
IQQ_—THQZ:E(Q’\

- - P

(T-3OR= T

ST
Laies
¢. Evaluate R; when /=1.07 A, [; =970mA and R, = 82kQ

o S0 B0 | FISUO -390 4rQ
= {.0% — 0.0+ 0.\ _

6. Solve for x in each of the following:

a. 2v=3u + ax

AV-Ddy = A%
aw= AV -3dU

S AN-dY
%= oL

_—
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b K swe2
Y2 (Ew+2) = k

2 XK
X T ENrL

:+j—_ﬂ—j
*= =NBavd

z(.:@—\ = K\/\ '\AX&
&)

v-a = Hln-y)
%= B(n-uy+ o
-—

----- END OF TRIAL TEST/ASSIGNMENT - Check your work! -------
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